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A 12 HHRKRFE R .0 2.0 14 x| 9.0 4.0 & x| 7.0 6.0 | mEk [ 7.0 6.0l 40] 9.0 .0 [118.0 1
A 16 FHEEKRZE FZER .0 1.0 | #dbx | 10.0 3.0 | k| 6.0 7201 B x| 12.0 1.o] 3.0 10.0 .0 [105.0 2
A 1 BEKRE IIf/ZFN .0 Lo MEK| 8.0 501 B k| 10.0 3.0 | PRk | 6.0 7.0 3.0 10.0 .0 [116.0 3
A 14 |RIEKRZE VN .0 0.0 ® x| 3.0 1004 x| 8.0 5.0 | #iEX | 7.0 6.0 3.0 80 .0 [119.0 4
A BERBEEKRE H K .0 100 | F#EX | 7.0 6.0 | wmwx | 7.0 6.0 | mukx [ 8.0 501 3.0 80 .0 [105.0 5
A 9 |db¥mEKRE LR PN .0 4.0 | x| 4.0 9.0 | x| 5.0 8.0 k®mx | 7.0 6.0 2.0 100 .0 [113.0 6
A HAKRE RPN .0 0| kx| 1000 3.0 | Bk | 3.0 100 & x| 1.0 1220 2.0 10.0 .0 [121.0 7
A 4 BEIREMNKRFE IESR .0 0.0 | x| 5.0 8.0 | kx| 9.0 4.0 | #dex | 6.0 7201 2.0 7.0 .0 [100.0 8
A 10 BLERE & x| 4.0 9.0 | s [ 10.0 3.0 | &K | 9.0 4.0 | @K [ 5.0 8.0 20| 7.0 .0 | 83.0 9
A L RFE wEk | 1.0 120 | wiEx [ 9.0 4.0 | @K | 6.0 7.0 | MZEK | 9.0 4.0 220 7.0 .0 ] 90.0 10
A TEXTF EEK | 6.0 7.0 | @K | 6.0 7.0 | WwEK | 9.0 4.0l =Tk | 7.0 6.0l 20| 5.0 .0 79.0 11
A 5 EFERE TR | 7.0 6.0l x| 3.0 10.0 | BEX [ 4.0 9.014d x| 6.0 7.0 .o 8.0 .0 [110.0 12
A 15 #&RJIIK%EE ®Oox| Lo 120 2xx | 7.0 6.0 | sk [ 4.0 9.0 | wmx | 4.0 9.0l 1.0] 8.0 .0 [114.0 13
A 13 ZHI¥EKRZE ALk | 0.0 13.0 | w4k | 6.0 7.0 | #AhE | 9.0 4.0 | T#EX]| 6.0 7.0] 1.of| 7.0 .0 ] 92.0 14
A 11 HERKREES gk | 2.0 11.0 | sk [ 3.0 100 | 2rx | 4.0 9.0 | Wik | 8.0 501 1.of| 7.0 .0 96.0 15
A 3 HuFRE BEAR | 0.0 13.0 | Wik | 4.0 9.0 | FEEX | 4.0 9.0 | kb [ 5.0 8.0] 00] 7.0 .0 [103.0 16
B 18 |HIRRE ik | 12.0 Lo | itk | 12.0 Lo| BERr| 7.0 6.0 | mex | 9.0 4.0 40| 8.0 .0 [100.0 1
B 33 RfEHEKTFE SEEOR | 12,0 Lo | sk | 13.0 0.0 | Bk | 12.0 Lo EER| 9.0 4.0 40 6.0 .0 | 86.0 2
B 27 HIRERKRFE Rk | 11,0 2.0 | —#&x | 10.0 3.0 | BaRk | 8.0 5.0 | miak | 4.0 9.0 1 3.0 10.0 .0 |119.0 3
B 30 BORKE w@iek | 8.5 4.5 | kx| 9.0 4.0 | mEK | 5.0 8.0 —~#x | 8.0 501 3.0 7.0 .5 [105.5 4
B 22 FWIHERSLKRFE BEEXR [ 4.0 9.0 | HEXK| 9.0 4.0 | skx| 9.0 4.0 |k | 7.0 6.0 30| 7.0 .0 [104.0 5
B 24 FERFE wHK | 6.0 7.0 FTk | 9.0 4.0 | mkKx | 7.0 6.0 | sikx| 7.0 6.0 3.0 3.0 L0 | 74.0 6
B 21 BEXE #war k| 9.0 4.0 | #s#Kk | 13.0 0.0 | WAk | 6.0 7.0 & K| 4.0 9.0 2.0 12.0 .0 [130.0 7
B 20 PBHEERZF BEKR | 11.0 2.0 | BIEK 1.0 12.0 ] & XK 1.0 12.0 | ##LAk | 8.0 5.0 2.0 | 11.0 .0 [124.0 8
B 26 —BRE TITk| 9.5 3.5 | #AEk | 3.0 10.0 | sk | 10.0 3.0 | BRI | 5.0 8.0 20| 7.0 .5 94.5 9
B 32 HERIEKXRE Wik | 5.0 8.0 sz#Kk | 8.0 5.0 | #Emix [ 8.0 5.0 | #szx | 6.0 7.0] 2.0 6.0 .0 | 84.0 10
B 19 HBEKR%E Bk | 2.0 11.0 | #B32k | 4.0 9.0 | FT x| 9.0 4.0 | mfEK | 8.0 501 2.0 6.0 .0 ] 87.0 11
B 31 HREFRE TR | 8.0 5.0 | BURK | 4.0 9.0 | #xzk | 4.0 9.0 | sEXR | 6.0 7.0 1.0 11.0 .0 [115.5 12
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B 17 BRIRTLKZ ‘A [ 1.0 120 ] = x| 0.0 13.0 | kx| 5.0 8.0 | sc# Kk | 8.0 50| 1.0 11.0 | 14.0 |132.0 13
B 28 WIHERBERTE BEXK [ 2.0 1.0 | wiex [ 8.0 5.0 | #EEk | 6.0 7.0 | 5EK]| 5.0 8.0 1.0] 9.0 21.0]108.0 14
B 23 EREREFTKREFE sk [ 7.0 6.0 | BErEX [ 0.0 13.0 ®x | 3.0 10.0 | Bk | 5.0 8.0l 1.0] 9.0/ 15.0 |109.5 15
B 34 MNEKE B k] 1.0 1220 ] BT X | 5.0 8.0 | wifeek [ 8.0 5.0 | #Emik | 5.0 8.0 1.0] 80 19.0 [110.0 16
B 29 HIERFR EpRK | 4.5 8.5 | mKx | 5.0 8.0 | szt#x [ 5.0 8.0 Tk | 8.5 4.5 1.0| 50230 86.5 17
B 26 TEIEKRE HER | 3.5 9.5 | k| 4.0 9.0 | EXR| 4.0 9.0 | wiEx | 4.5 8.5 0.0| 80 16.0 |102.5 18
o 40 |/MBRERIRF 285 | 4.0 Lo sk | 2.0 3.0 B&x | 3.0 2.0 | EgEK | 3.0 2.0 3.0] 80 12.0] 39.0 1
o 42 | EHRSEFERF BET [ 3.0 2.0 | ek [ 3.0 2.0 | Epsx | 3.0 20| B&x | 2.0 3.0 3.0 80 11.0] 41.0 2
o 36  FRIREEEKFERK ok | 3.0 2.0 Bk | 40 Lo ssk| 2.0 3.0 | Mgk | 2.0 3.0 2.0 100 11.0] 42.0 3
o 37 BALFRE BEK| 3.0 2.0 | Epsx | 1.0 4.0 | gk [ 2.0 3.0 | #4k | 3.0 2.0 2.0 100 9.0 44.0 4
o 35 RIBKE EEEK | 2.0 3.0 | &K | 3.0 2.0 | #® [ 3.0 2.0 | e [ 2.0 3.0 20| 6.0 10.0 38.0 5
o 38 BEOKETRE Ak | 2.0 3.0 | x| 2.0 3.0 | #Hee | 3.0 2.0 | #®T | 3.0 2.01 2.0] 6.0 10.0 | 36.0 6
o 41 BBEKXEBRILER 05 NI P 3.0 | ¥E: | 3.0 2.0 | #uix [ 2.0 3.0 | B&EK| 2.0 3.0 1.of 80| 9.0/ 39.0 7
o 39 FEEREARE g | 1.0 4.0 | ®EET | 2.0 3.0 | B&XK| 2.0 3.0 | ik | 3.0 2.0l 1.0] 80| 80 41.0 8
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